2x11=

O9x11 =

3Ix11 =

5x11 =

8x11 =

D'7'a7n - 11-2 793

11 x11 =

D'7'20R0 NX NN

10 x 11

1x 11

6ox11=

7 x11 =

12x11 =

4x11 =

T DI'OD NYYUNY NNNDN NYYAN 1700 1XYN
11 9¢ niod

12 64 101 99 77 33 [n7nnn
49 28 40 22 21 32 56
16 45 35 44 11 12 72
10 120 | 63 81 66 54 108
oo | 121 55 110 | 88 42 36

BrainBuzz.co.il "nx% 1010'0 0'kwi 11ana N1y '9T17
Gaonchik.co.il "\nx7 10150 021NN A1N2N7 N1dNY

Kefel.co.il "nx7 1010'0 7950 N7 Tin'%% nmiay 'o121 171X '‘pnun?

wII9N TIW'R K77 DNNKRYT 1'aynY IX Y'9n7 790w ,7'nyn? 'k .© KEFEL.CO.IL 7950 ni? Aanx? nnmw nirdm '


http://www.kefel.co.il
http://www.brainbuzz.co.il
http://www.gaonchik.co.il

